Announcements — L ecture XXI - Thursday, Apr 19t

1. iClicker: itk -l Pickany letter a-e
2. Quiz9: Due Tuesday, April 24th,
3. Owl: All remaining Owls for Exam lll are now up. The due dates for some

are different, based on projected coverage. Just wanted to give

you a heads up on the remaining Owls in this course as we quickly
approach the end of the semester.

slide = 135



19.2 Calculating Entropy Change

Entropy Change in the Surroundings

ASumv = ASsis + DSsure

o
DSe = 59 (PRovucts) - 1S (RercTants)

ASsuw = - &?I'E , @ conshunY pressune
Qsys = Al

ASsun 7"4%&!

[ﬂSTm (5o - Ao ]

%08 o sponfomeous protess, ASuww 70, omd the
aeaction vs hus product Savored.

ASunw = ASam - L\jrm

) !
btropy Vs  Tmheley
Batfe !! { 0570 BN 20 Endofensic
) 0S<0  AH<O  Rxolhesmic
No Bolife I:{ AS>0 M<o Fxathenmic

AN 70 Dmdolhenwic

¥ : ASumv odnays 20, udh favored.
27 ASum olkars <O, :::glm\‘ Covored

AL 05<0

Slide - 152



19.2 Calculating Entropy Change
Entropy Change in the Surroundings

Consider the reaction Ny(g) + 2H,0(l) = 2NO(g) + 2H,(g)

for which AH°=752.2kJ and AS°=351.6 J/K at 298.15K

a) At 298.15K s this reaction product or reactant favored?
b) Is the answer to a) entropy or enthalpy driven?

DS, = DS5vs + ASsum
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19.3 Gibbs Free Energy

Gibbs Free Energy and Spontaneity
G =H-TS G * Glhs Joee !mnw
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DMsys
0Sum = [Sets - = 70 bno EPH\'mui aeachion. ) =i gm
(G<0: sponfomesus un the
Do - B 50 Sineckion,
ThSsys - AMsis >0
-TASsvs + Msis <0 0570 nonspontameous in the fonnand
dinection .. convensly
Absts <O $or o spenfameous Reochion. spontumaous wn the Revesse
t.‘nl'nlt'ﬁn‘l.

Gits Free tnengy = T moxmum NoAR ke com gef faom o peactiom. | AG=0:  oF equiibaiun

Slide - 154



19.3 Gibbs Free Energy
Standard Gibbs Free Energy

Tuo nein nebods b deteanione AGm

. DGew = MM - TASh

% DGew = EDGs (producls) - JOG (reachonks)
Sindion To OH? are Tolbuloled §or o host of nebecubes.
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